
                                                                                                                                     PN: 5915 

View the Husky Liners® Lifetime Warranty at www.huskyliners.com/lifetime-warranty.                 5915  Jeep Wranglerr Rear Instr.docx 

Patent and Trademark can be found at www.hl-ip.com          Rev: 0 

pg. 1 

 

 

JEEP WRANGLER – REAR MUD GUARD 
INSTALLATION INSTRUCTIONS 

 

Please read instructions thoroughly before installation. 

Tools Required 

 Short Phillips screwdriver 

 Drill / 1/16” drill bit 

 8mm socket or wrench 

Package Contents 

 Driver & passenger side mud guard 

 #10 SEM Screws (qty. 6) 

 #10 X 1-1/2 Long Screw (qty. 2) 

 Small Flat Washer (qty. 2) 

 Instruction sheet  

 

MUD GUARD INSTALLATION 
 

NOTE:  It may be necessary to remove the wheels before mud guard installation.    

   
1. Clean and degrease the mud guard location area on the fender before installation. 
2. Remove existing fastener from location C. 
3. Remove existing U-clip at location C and replace with supplied U-clip. 
4. Install the mud guard with the #10 X 1-1/2 long screw and small flat washer at location C.  See Figure 1. 

5. Using the mud guard as a template, mark and drill 1/8” holes at locations A, C and D. 

6. Install #10 SEM Screws at locations A, C and D.  Do not overtighten. 

7. Check Mud Guard fit and alignment before tightening.    
 
 
 

http://www.huskyliners.com/lifetime-warranty
http://www.hl-ip.com/


                                                                                                                                     PN: 5915 

View the Husky Liners® Lifetime Warranty at www.huskyliners.com/lifetime-warranty.                 5915  Jeep Wranglerr Rear Instr.docx 

Patent and Trademark can be found at www.hl-ip.com          Rev: 0 

pg. 2 

 

 

http://www.huskyliners.com/lifetime-warranty
http://www.hl-ip.com/

